G4-Mid-Lesson 5

1. 2x4,000=

8,000

2 fimes

4 thousands is

8 thousonds

4 thousands and
circle each group.
| see g pattern! 2
groups of 4 units

K/I draw 2 groupsof \¢c"ssa &
D0 H

4, 0 0 0O
x 2
3 6 ¢ 0

\is 8 units.

2. Find the product.

2 X 4 thousands = 8 thousonds

Writing the equation in-unit form helps me
when one of the factors is a multiple of 10,

a. 4x70 =289

4 % 7 iens = 28 tens

b. 4 x 60 = 240 c. 4 X500 = 2,000

4% 6 tens = 24 tens | 4 X 5 hundreds
= Z{ hundreds

d. 6,000 %5 = 30,009

6 thousonds < 5
= 30 thousonds

3. At the school cafeteria, each student who orders lunch gets 7 chicken nuggets. The cafeteria staff

prepares enough for 400 kids. How many chicken nuggets does the cafeteria staff prepare altogether?

N
P

400

The staff prepares 2, 800 chicken nuggets.

N =7 x400

N =7x(4x100)
N = (7 x4) x 100
N=28x108
N=228080

I can decompose 400 into 4 x 100 to unveil an
easy fact {7 X 4). Orl can use unit form to
solve. 7 times 4 hundreds is 28 hundreds.

EUREKA

Lesson 5:
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Muitiply muttiples of 10, 100, and 1,000 by single digits, recognizing



